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QUESTION 1

A company has implemented a MetroCluster cluster. The company wants to use MetroCluster TieBreaker to monitor
and detect failures of the cluster. 

In this situation, which three components are monitored? (Choose three.) 

A. nodes through local node interfaces 

B. FC connectivity of the ATTO bridges 

C. FC connectivity of the fabric switches 

D. the cluster, through cluster designated interfaces 

E. the surviving cluster 

Correct Answer: ADE 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.hw-
metroclustertiebreaker%2FGUID-79A81337-B147-4497-A1D4-D7802FC23D76.html 

 

QUESTION 2

Click the Exhibit button. 

You have data corruption in a volume, and you are asked to restore the data from a SnapVault destination. Referring to
the exhibit, which two actions occur when the volume is restored? (Choose two.) 

A. Only files that have changed in the volume are restored. 

B. The restore is performed locally. 

C. The restore is performed over the intercluster LIFs. 

D. All files in the volume are restored. 

Correct Answer: AC 
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QUESTION 3

A client has a VMware vSphere environment with several MS SQL servers currently running that provides back-end
Web services. You are asked to prepare a disaster recovery solution that would minimize downtime if any of these
virtual machines become corrupted and unavailable. 

Which solution will satisfy the requirement? 

A. Use the NetApp SnapCenter software to take a complete backup of the entire virtual server that is hosting the
database. 

B. Use the NetApp Virtual Storage Console snapshot function to take a complete backup of the entire virtual server that
is hosting the database. 

C. Use the NetApp SnapCenter software to take a consistent backup of the database and operating system, followed by
another Snapshot copy of the virtual server. 

D. Use the NetApp SnapCenter plug-in for VMware vSphere to take a complete backup of the entire virtual server that is
hosting the database. 

Correct Answer: D 

 

QUESTION 4

Click the Exhibit button. 

You have configured a vaulting relationship that is not updating hourly Snapshot copies to the destination. Referring to
the exhibit, what is the problem? 

A. The source Snapshot policy is missing the hourly label. 

B. The SnapMirror policy is missing the hourly label. 

C. There is no hourly schedule in the SnapMirror policy. 

D. The SnapMirror policy is missing the daily label. 
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Correct Answer: A 

 

QUESTION 5

You are asked to size an ONTAP disaster recovery and backup cluster. You are required to use 4 x 40 Gb Ethernet
ports per controller and 4 x 32 Gb FC ports per controller. You also need to confirm support for Commvault IntelliSnap
for NetApp v11. 

In this scenario, which two tools would confirm these requirements? (Choose two.) 

A. Active IQ 

B. Interoperability Matrix Tool 

C. Hardware Universe 

D. OneCollect 

Correct Answer: BC 
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